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ACB::=Vx(x€eA—->x€RB)
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ST HEEESA. BFC,A:
« A C A. BPC B A B R M (Reflexivity).
« %A C BHB C A WA = B. Bp CEBF RITARME (Antisymmetric).
« XAC BHB C C,WA C C. BpC A 4% 3% M (Transitivity).

Sh3E ) FZ (Axiom of Extensionality): 4 % & & AAeB A 7 A 48
B89 L&, 4% S AFeBARF,iTAEA = B.




R EAOA VAN LR TREATLEMROGELSRANAGTESE
(Power set), 724 P(A) 2.24.
P(A) = {x|x € A}

f): 4o B A = {1,2,3}, I 4

P(A) = {2, {1},{2},{3},{1,2},{1,3},{2,3},{1,2,3}}
iAley, 2RONFEAL: P(P) = {D}.
AN IR TRTREAANITA REAAC T 5 A%
1 &7 A& % (Universal Set). 1T4EU.



BEAF w3t ibE R EFE R
A—B={x|x€e AANx & B}

BRURLE ARUN TR U — AN ESAN LI ANE. T4~
A AC.
XA BRAEEL T OANES, ARBHREANB,FRAUB,
AR STAR 2 R ABB 7 A & L4 T

e ANB={x|x € ANx € B}

c AUB={x|x € AV x € B}

c ABB=(A—-B)UB-A) ={x|(x€eAANx&€B)V(xE€EBAx & A}



% BB (Venn diagram): £4&. £4&83F 5%
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RABARAEEZ R A, BT @ aLn] o] vA = £ B A
E:
« BEHEARFE LN
o FARZL NN~ ALZE LN Ko
« FABRELHNX,M(AUB),(ANB),(A—B),(ADB)
AR A A Ko
o A MRORMAL VA LA £F 2] 6 K AR 2 A KXo

Blde: (ADB)N(B—C) £AFE A Ko



%A B,CRAL2BUMESZTE,
T R — 3 i KSR AR AR

&5 (Idempotent Laws)
c AUA=A ANA=A

R (Commutative Property)
e AUB=BUA
e ANB=BNA
c A@B=B&PA

2% &1 (Associative Property)
« (AUB)UC =AU (BU ()
s (ANB)NC=AN(BNC)
*(ADB)DC=ADBDC)

5~ BLAE (Distributive Property)
« AU(BNC)=(AUB)N (AU C)
+ AN(BUC)=(ANB)U(ANC)
+ AN(B—C)=(ANB)— (AN C)



Bl — £ (Identity)
c AUD =4, ANU=A4
c A—DP=A APD=A

KA R X BL4E(Domination Laws)
c AUU=U,AND =09

& #MME(Complement)
e AU~A=U
c AN~A=09
e~ U=
e d=U

"R 4E (Absorption Laws)
+ AUANB) = A
+ AN(AUB) =4

R E L & A Double Complement)
* ~(~4) =

1. EARE (De Morgan s Laws)
+ ~(AUB) =~ AN~ B
+ ~(ANB) =~ AU~ B
« A—(BUC)=(A—B)n(A-0)
«A—(BNC)=(A—B)U(A—C)



